EARAROBREBRT —5 XN—ZXBISH—F

20233898 (R) 19EAH4H

IR 7Y /o —TJ8X YS5R4RLEOP

‘(fﬁ} W ‘I%EH?’JF&] | & 1000 =

[AE%] 17 :13,000,000 F ~ 237&:4,550,000 . 337&:2,600,000H . 43%&:1,300,000 " ~ 57&:650,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
» » s 5 | EHEER 1:25.7 5-5-5 | 36.5| — 3 499 | NISIE— (#6t8)
1712 F LT 57.0 - (8) itHis
QiR A—FWIT B RU—AOF 1 — D |5+ iy
'~ )5 7 | HFEY 1:25.7 4-4-3  |36.7| - 8 48) | EEMERE (KH)
211[1|7I7YF4RN 57.0 F5%) W) | B "FPIAR—LT VTR
R:IADAIv— B:TVFvO-7 BERIS
NP 5 | REEZ 1:25.8 1-1-1 [ 37.1] - 6 507 | EEMEK (KH)
T — 58.0 G/4) te) | @ TALTI—
R:ZIWVFNSV2 #:5—=— BRAEMT TALUTI—
7ZROEE 7 g{'olgé (12216/23) 12-11-11 |36.5] — | 7 | 471 ﬁjé}%;%” ()
R:7ROFVITL B:OAVRISR (-5) ERT7—L
Fo Ry Py i o6 Suéllﬁgéﬁii 1:26.3 9-12-12 | 36.4| - 2 | 473 giﬁﬁg (IVH)
: ze) _ BAMEE
RiFISU—vavrTur— &:Ix5AFvwh (=3) It
_ o s 5 | fHEAIIE 1:26.7 10-10-9 [37.0| - 1 528 | tEEE (I
=Fz k-0 58.0 @ “) | SRE @
R:XITT«4 B:7PS5TR 7SFITTP—LA
%R 4 8 | BEK 1:27.0 2-2-2 382 - 11 | 478 |FRFHBESL ()
71213 2 EAXAEUY ‘ 57.0 117 (y |BEN
RPURIA TSR B:I)EAR BRYS
S — o6 | HIBMS 1:27.0 3-3-3 [38.0| - 9 | 543 |KEEE (18
8|58 /7\\/D ~ . 57.0 U\F) 5) Eﬁﬁ}%‘: -
R:007% B:AVYRL FOTUVRT7—L
T 8 v 9 | BIFE 1:27.2 11-9-10 [37.5| — | 12 | 450 |EAR (KH)
9814 /{.J:U;‘Zj‘!J’f o 57.0 ) @) |FhEmE
R:dVFaAv bk B:RXU-T OARET21—T7—LA
= = _ 4 4 | FOHEES 1:27.4 6-8-8 |37.9| - 5 545 | RICTR (KH)
1005|9|ZA7ZI74 =N 5.0 1 1/8) o | EEEE
R:N40 B:UYv—)LY—N BARRS
Fo¥OvIx 10 g%ﬂ(ﬂ)%: 1:(27).8 13-13-13 |37.7] — | 14 | 491 Eﬁﬁ% j(7c;t:r>
. 2, =
RYLSAN—F BRLEY RILAZ ) | RLE R 77— i
~ 3~ H o4 | @RS 1:27.8 8-7-7 [38.4| — 13 | 468 |YETFEES ()
/7\.1 I:Q l//_/ﬂ/d. ) _ 55.0 F9%) o) | RN
R:AN/UFP—R BN/ VA= AW T HE
ST~ SEMER 1:28.1 14-14-14 [38.0| - 10 | 515 |RER (#01HE)
D—LRU YT 550
. (1 3/4) ) | BEBER
RibwPO—LR B:RNASILUVT (-4) Ait4is
= — R 4 4 | AHIESE 1:28.5 7-6-6  |39.3| -— 4 519 | BREIERE (KH)
17\0?’(“/_“ |\ o 58.0 ) (+20) (B) :FT’D‘) K77 —LA
R:STU—F4 #:7vvOI— R L LN
ILTFA4FVT 4t 7 15?—;71,@0%‘2;7\ - - - - - - ﬁgﬁ)ﬁb (1)\#E)
: (B54) -y |BEn
RNMTSY BRLT )| sy
@ 1—F—&RIEL
13—7—
20—F— 3,13,8,1,12,9,15,2,4,11,14,7,5,10
30—7— 3,13,8,1,12,15,2,9,14,11,7,4,5,10
40— — 3,13,(1,8),12,15,2,9,11,14,7,4,5,10
o ILRE
BB 12 510M JA R 1-12 1,1004 % 3E 1-7 3,090 3EE 1-3-12 9,150
B B 12 1909 3-12 850 (=1 7-1 5,180 3EH 12-1-3 51,240
1 3804 1-3 1,490 5 & 1-12 3,330
3 290 == 12-1 5,600

ABIC OV TRUTEREERRODDZE. THRIIZEL.




